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a. The LCM is the greater of the two Rubric
numbers. For example, the LCM of a. 1 point for answer; 1 point for
3and 9is 9. explanation swer.

b. The LCM is the product of the two b. 1 pointfor number of pltters; 1 point
numbers. For example, the LCM of
5 for number of vanilla and chocolate

and 9is 45 cupeakes

Rubric

a. 1 point for answer; 1 point for valid
example

b. 1 point for answer; 1 point for valid
example
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6.NS.4

SELECTED RESPONSE CONSTRUCTED RESPONSE
Select the correct answer.

1. Find the greatest common factor of
12and 18.

@1
®2
®©3
[Of
2. Find the least common multiple of
8and 10.
® 32
® 40
© 50
@ 80
3. Find the greatest common factor of
7and 11
@1
®7
®© 1
@77

6. Is it possible to use the distributive
property to rewrite 85 + 99 as a product
of a whole number greater than 1 and a
sum of two whole numbers? Explain your
answer.

7. Charlie and Dasha are roommates, and
they have a dog. If neither of them is
home, they hire someone to watch the
dog. Charlie must go on business trips
every 6 months, while Dasha must go on
business trips every 9 months. fthey
both just got back from business trips,
how many months will it be before they
need to hire someone to look after the
dog again? Explain your answer.
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4. Find the least common multiple of 6
and 12.

(o)
® 12
© 24
@72
5. Factor out the greatest common factor of

the expression below using the
distributive property.

90+ 60
@ 30(3+2)

® 1009+ 6)

© 15(6+4)

@ 6(15+ 10)

8. Salvatore is making some party favors for
his birthday party. He has 96 pencils and
80 boxes of raisins. He wants each party
favorto be the same, and he wants to
use all of the pencils and raisins. Find the
GCF of 96 and 80 to figure out how many
party favors he can make. How many
pencils and boxes of raisins will be in
each one?
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9. a Whatis the LCM oftwo numbers
when one number is a muliple of the
other? Give an example:

b. What is the LCM of two numbers that
have no common factors greater than
12 Give an example.

11. Consider the sum 36 + 45.

a. Use the distributive property to
rewrite the sum as the product of a
whole number other than 1 and a
sum of two whole numbers.

b. Write the sum as the product of a
whole number different fromthe one
you chose in part a and a sum of two
whole numbers.

c. Can this be done in morethan two
ways? Explain

12. Abaker has 72 vanilla cupcakes and
80 chocolate cupcakes. She wants to
make platters for a party that have both
kinds of cupcakes and the same total
number of cupcakes on each platter.
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10. a Find the greatest common factor of a Can the baker make 10 platters of
3ands. cupcakes with no cupcakes left over?
Explain why or why not

b. Find the greatest common factor of
11and 13,

. Use your results from parts a and b
to make a conjecture about the GCF b. What is the greatest number of
of any pair of prime numbers platters she can make? How many of
each kind of cupcake will be on each
platter?
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6.NS.4 Answers

1.0

2.8

3.A

4B

5.A

6.No, the greatest common factor of
85and 99is 1. The only way to rewrite
85+ 99 using the distributive property
is to write 1(85 + 99).
Rubric
1 point for answer;
2 points for explanation

7.The LCM of 6 and 9 is 18. Therefore,
Charlie and Dasha will both be traveling
on business trips in 18 months, and so
will need to hire someone then.
Rubric
1 point for answer; 1 point for explanation

8. The GCF of 96 and 80 is 16, so Salvatore
can make 16 party favors. Each one will
have 6 pencils and 5 boxes of raisins.
Rubric
1 point for using the GCF to find the
number of party favors;
1 point for number of pencils per party
favor;
1 point for number of boxes of raisins per
party favor

9. Possible answers:

10.a.1
b1

c. The only factors of a prime number
are 1and itself, so the greatest
common factor of two prime
numbers s always 1

Rubric

a. 1 point

b. 1 point

©. 2 points.

11. Possible answer:

2. 36+45=3(12+15)

b. 36+45=9(4 +5)

c. This cannot be done in more than two
ways because 3 and 9 are the only
common factors of 36 and 45 other
than 1

Rubric

a. 1 point

b. 1 point

c. 1 point for stating that it cannot be
done in more than two ways; 1 point
for explanation

12.a. No, she cannot make 10 platters of
cupcakes; 72 is not divisible by 10.

b. The GCF of 72 and 80 s 8, 0 she can
make 8 platters. Each platter
will have 9 vanilla cupcakes and
10 chocolate cupcakes.




